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ACCOUNTING
RATIOS

¥ . expressed in
o . f : : L items express
Ratio: Ratio is a mathematical relationship between two related items o1 group of

quantimtive forms.
Ac AT
i i i ; e s tate ts and express a
Accounting Ratios: Accounting ratios are those that are based on financial statemen
arithmetical relation between various accounting variables,

. . o . : . : f relationship
Ratio Analysis: According to Myres, “Ratio analysis of financial statements 15 a study o e
among various financial factors in a business as disclosed by a single set of statements a
trends of these factors as shown in a series of statements”.

Objectives of Ratio Analysis:

1. Identify Problem Areas: Ratio analysis helps in locating those areas of business which are weak,
not functioning properly and require immediate attention.

9. Measure Profitability: Through an analysis of gross profit, net profit, expenses and other similar
relative amounts, the ratio analysis helps in arriving at true figures of profitability and also
highlights changes in it from time to time.

3. Ascertain Operational Efficiency: Ratio analysis determines operational efficiency through
operating/activity ratios and also point out the areas where it may be improved and how.

4. Assess Business Solvency: By highlighting rela'tionship.s.between assets and liabilities thr
solvency ratios, ratio analysis indicates the financial condition.

5. Gauge Financial Position: Liquidity and solvency ratios together hel
and long-term financial position of a concern. If the position is
measures may instantly be initiated.

6. Facilitate Comparative Analysis: A comparison between present and past performance o
between self and other firms of the same m.d ustry, constitutes the comparative analysis. Thi o
especially useful to find out advantages and disadvantages of the firm itself. SEThisha

7. Aid in Budgeting and Forecasting: Ratio analysis assumes much 5

: : ; : . portancasitf :
forecasting and planning. These ratios provide meaningful conclusions Doty .Ism f“}anmal
future decisions. as a‘guide for

8. Simplify Accounting Figures: A major objective of financial a
organise and properly arrange the financial matter so that it m

ough

P In measuring short-term
not satisfactory, corrective

nalysis is o s}
& wrten, sum :
: . ay casily be “bSOPbed'by aumamse,
Classification of Accounting Ratios: On the basis of purpose, ratios may he classified .
aasllied as:

&lbilities in o ;
The Ume, T
herefore, thepamais ol ae

L. Liquidity Ratios: Liquidity means ability of the firm to

! pPay its current 1i
ratios are used to assess the short-term financial position nt li

of the firm,
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; ¢ . oo oo include two
also called as Short-term Solvency Ratios. Liquidity ratio 1nc
(i1) Quick Ratio.

ratios: (i) Current Ratig and
o " the firm to pay its long-(erm
> i ' of the firm
Solvency Ratios: These ratios are calculated to ascertain the ability

- ancial stability of the business. Sop.
liabilities in time. Sound solvency ratios ensure long-term Hn:
important solvency ratios are:

) 1\ Proprietary Ratio (iv) Intereg
(1) Debt to Equity Ratio, (ii) Total Assets to Debt Ratio and (1) Prop
Coverage Ratio.

- e Ratios or Activity Ratios. These
3. Turnover Ratios: These ratios are also known as I’crf()rmdﬂlt P capilal, fixed assets and
ratios indicate how efficiently and profitably the total capital, ‘“clude'
inventory of the business are used. Varieties of turnover ratios in 10, (ii1) Trade Payab]
; p 5 . Turnover Ratio, (221 YabDles
(2) Invcnmry Turnover Ratio, (11) Trade Receivables Turnover ’
Turnover Ratio, (iv) Working Capital Turnover Ratio. h 3!
era ; F , : - ility or the capacity to earp
4. Proﬁtablllty Ratios: Such ratios measure various aspects of Lhe p1 O'ﬁ[agre" pass
a stable return of a business firm. Some important profitability ratios are: SV NeCP R
] S m i e . io (1v) Net Profit Ratio,
(1) Gross Profit Ratio, (i1) Operating Ratio, (i) Operating Profit Ratio (v)
(v) Return on Investment.
Analysis of Different Ratios-At a Glance o
e T = Rl ke {adF vims it E
. \ e ni {
L__Rart_{o 77777 . Formula i Contents B . Standard mportacs —
L Liquidity Ratios OHEMITG 7 Eaiheidali
| 1. Current ‘ Current Assets | Current Asses = Current Investments + 2:1 High current ratio shows the abiity |
| Ratio 1 m Inventories (Excluding Spare Parts and of the firm to pay short-term
| | Loose Tools) + Trade Receivables +LCash liabilities. Low ratio shows poor
| | | and Cash Equivalents + Short-term Loans iquid condition of firm.
i g | and Advances + Other Current Assets. e

Current Liabilities = Short-term Borrowings +

\ Trade Payables + Other Current Liabilities +
|-t e - . | Short-term Provisions.
| 2. Quick Ratio |

|
l
E
Liquid Assets | Liquid Assets = Current Assets - 1:1 High Quick Ratio shows thatfirm |
| 2- Quick F | . ; X |
| orLiquid Current Liabilities s gnventones + Prepaid has ability to meet liquid i
:;tét_)tggt w; ] Xpenses.) obligations in time.
. Ratio | \ —— 0
| II. Solvency Ratios T . | :
| calam] i : S S o
L 1.|:l);bﬁt-Equ1ty : Debt — Debt = k?gastgrg Borrowings + Long-term 5;?;5223 IS | This ratio indicates the
‘i atio } Equity / Shareholders! Funds Equity/Shareholders, Flinds satisfaztgry, proportionate claims of owners and
| ; = Share Capital + Reserves and Suplus | Generallya | Oulsiders on firm's asses. High
i or low ratio is ratio shows claims of outsiders are
] l Non-current Assets (Tangible Assets + | considered | greater but low ratio shows
{ Intangible Assets + Non-current Trade |favourable. | outsiders' claims are less.
‘. Investments + Long-term Loans and :
\\ Advances) + Working Capital - Non-Current I
« Liabilities (Long-term Borrowings + | |
Long-term Provisions). 1
Where, Working Capital 1
1 = Current Assets — Current Liabilities |
1 = O I v
‘ i | Assets [ o N
2. Total Total Assets Tota | Lower the [
! e ~ Debls = Non-current Assets +ACurrent Assels | ratio lower is ! This ratio attempts to
| DebtRatio Debts = Long-term Borrowings + Long-term | the roleof | Measure the
| ‘ Provisions | borrowed | Proportion of totg]
| qunds | 8ssets funded by long-term debts.
R
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3, proprietary l Proprietorm —
tio T -
SR i e vt Erm——p—r
] ?)pltal * Reserves and Surpius | gighe!r) ﬂ:te i Ihhis ratio indicates the extent o
| r | ratio, better | which the assets of company can
| Non-curren Assets : the solvency, | be lost without affecting interest of
' Intangib| (Tangible Assets + lower the ratio | credit
| gible Assets + No | ors.
| Investments + n-current Trade esser
1 Long-term Loan solvency of
| Advances) + : s and
\ P W0rklng Capital -N the firm.
Liabilities (L on-current
e taro G - Long-term pong.' term Borrowings +
L4 Igterest | Net Profit before g rovisions). ,3
. Coverage ‘ rofit before | e 7 et S Y aty G
Ratio or | |ntere'|5rt“ereSt and Tax ' interest on long-term debts. | Higher the | Itindicates the number of times
ebt 1 on Long-term Debts raiomore | interest s covered by the available
D
Service 1 ffrfgftg]:n frott
Rate l lenders, lower |
‘: the ratio more |
i risk for ;
Lo long-term
|l Activity Ratios lenders. |
| 1. Inventory | CostorR T e e
T th'anue from Cost of Revenue from operations = Thereisno | It measures the velocity of
Ratio \ operations Cost of Material consumed + Purchase of rule of thumb | cqnversjoq of stock into sales.
; Average Inventory stock in trade + change in inventories of Rl ltiolincicatcs efficient
l finished goods, WIP and Stock-n-trade + interpreting _management and low ratio shows
: 1 ; : this ratio. But | inefficient management.
i Diect Expenses higherthe |
‘1 \ Or ratio, better it !
“ . = Opening Inventory + Net Purchases + IS. !
; E Direct Expenses — Closing inventory ;
. Or
'~ Revenue from operations — Gross Profit i
*, Average Inventory [
‘ 5 _ Opening Inventory + Closing Inventory |
l = 2 T ] .
oo - ol ,__M/f
| Note: In the absence of opening iventory, closing inventory is average: = |
e ¥ - et Credit Revenue from operations oruleo t indicates the number of times the
2. Tradg ‘ Net Credit Re'venue L ’=VTotal Revenue from operations, i.e., thumb but debtors are turned over during @
l $ Scoliates operations Sales — Cash Revenue from operafions je. | higherratio | year.
urnover ; hows
} : ceivable Cash Sales. SI0M
| Ratio Average Trade Re N Receivable | officient
| g Recoivables - Closng Recehble | mansgermen.
‘ o 2
e Receivables :
‘ Tra(_i—_ Debtors + Bills Receivable

|
= g

| Note: In case of op

en closing will be taken as average.

n in the question th

2 +
Creditors + Bills payable

T : t give :
Note: In case openin Trade receivables 1 Debtors' or Trade Receivables Turnover No rule of This shows the average number of
PN 365/ 52/ 12 2o thumb or set | days for converting debtors into
i % s standard but | cash. Low average collection
ection Trade Receival shorter period is favourable.
Period Turnover Ratio average
collection
period is
/// better for firm. LI
| £ purchases = Total Purchases Higher ratio is | This ratio indicates the velocity
4 1: ; Net Credit _ Cash Purchases better for firm. | with \yhlctll tt:le ct?ditm turned
4. Trade over in relation to purchase.
_;’ayables Avera Average Trade Payables = i i
urnover B Closing Payanles
Ratio Opening payables g

ayables =

rad
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— : e : Lower the .

5. Average 365/ 52/ 12 Trade Payables or Creditors Turmover Ratio ratio better ' days taken by a firm to pay the
Payment Trade Payables or the efficiency | creditors. fﬁﬂwﬁr the ratio beter

i ‘ ; iquidity of the firm.
Rei Creditors Turnover Ratio and highe” 3 i
ratio shows |
! | poor |
; efficiency. |
|
| x1 - e #"(———:——.—-—“\
| s 5]
e e [ i This ratio indicates the velog;

6. Working | Net Revenue from Operations Working capital. r;gzgtr;sa ki the utiisation of net working g:i{a,
?;F:?Jer Working Capital = Current Assets — Current Liabilities. efficient Itindicates the no. of times working
Ratio Current Assets, utiisation of | capital s tur_ned Qverin i Colrss

? : : working of business in one year.
} = Current Investments + Inventories capital, low
(Excluding Spare parts and loose ratio shows |
tools) | inefficient ,
+ Trade Receivables + Cash and Cash | management.
‘; equivalents + Short-term Loans and
i ' Advances + Other Current Assets. ’
| ' Current Liabilties j
! . = Short-term Borrowings + Trade ! I

; | ’ Payables + Other Current Liabilities + | ‘

| a; Short-term Provisions. ! 1

i 1 |

IV. Profitability Ratios oL

; 1. Gross GrossProfit ) | Gross Profit = Revenue from Operations — | Higher the It reflects the efficiency with which a

1 Proﬁt . NetRevenue from Cost of Revenue from operations ratio, good for | firm produces its products, It should

| Ratio | Operations (Net Sales) Cost of Revenue from operations = ' the be higher to cover all expenses and to

| Material Consumed + Purchase of Stockin | business, pay dividends and interest.

trade + change in inventories of Finished | lower

| goods, WIP,SIT + Direct Expenses | ratio not good

; Or for the

‘ Opening Inventory + Net Purchases + Direct business.

Expenses — Closing Inventory
Or
. o _| Revenue from operations — Gross profit
2. Net Profit Net Profit before/after Net Profit (Before Tax) i E?;r ; ;
Ratio Jax % 100 | = Gross Profit + Other Incomes - Indirect ratgijo br : This et indicateg e C LS
Operations (et S pp o | Mmanagement in manufactuing,
P Net Proft (After Tax) profitabilty of administration, selling and other
e S tyof | activities of the firm. Itis the
o - Cost o : ove 'S
Revenue from operations ~ Operating progglb :'Ti‘;asurement of firm's
Expenses — Non-operating Expenses + '
Non-operating Income ~ Tax
3. Operating Costof Revenue Operating expenses N\T—;\h\ :
i from Operations + = ; : wer the It S
Ratio Operating Expensess O_fﬁcfs. A_dmlmstration. selling and ratio better jt 5 yardsﬂck fo
Net Revenue from . 100 | Distribution expenses, Employees Benefit |is. SMclencys
O aion ot Sajee Expenses, Depreciation and Amortisation, favourable.

A ~H”;FThis ratio show;m\

—l T
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Q. 4.

Ans. (a) Let curr

Ans.

©
N

(e) Sale of fixed asset ata loss of ¥3,000. [CBS 8
E Delhi; (AI) 201
(a) No Change ‘ NS oy R
quity nor th ,
' (b) Increase  Debts are increasing © debts are affected.
(c) Decrease Sl 2 ‘ | I
| funds BT o
| (d) No change Both rernain unaﬁethLeQUlty will lnt?ieaseﬁ }

. From the following information, compute ‘Debt to Equity Ratio’

;lities (22,00,000) is 1.5+ 1.

) to Current Liab Ratio of 2:1, by paying off,

(a) The ratio of Current Assets (%3,00,000 ' et
ning a Gur pilities that should be pajq

The accountant of the firm is interested in maintal ¢ of current lia

part of the current liabilities. Compute the amoun ribanin d.

so that the Current Ratio at the level of 2:1 may be m Debts are z3,00,000 and workip
Long-term [CBSE (A1) 2004

(b) Total Debts of Rimzim Ltd. are ?3,90,090,
capital is ¥1,80,000. Calculate current ratio.

ent liabilities to be paid out of current asset
Current Assets

s =X

Bs Cuoentiauois Current Liabilities
g - 3,00,000 —X, 3’00’000 o — 4’()0’000 — 2x
1 200000—x

5% — x = 4.00,000 — 3,00,000; x = 1,00,000 .
So. in order to maintain the current ratio of 2 : 1, current Jiabilities to be paid are 31,00,000.
Current Assets
Current Liabilities
(1) Calculation of Current Liabilities:
Current Liabilities = Total Debts or Liabilities —
= %3,90,000 — 3,00,000 = Z90,000

(b) Current Ratio =

Long-term Debts or Liabilities

(z2) Calculation of Current Assets:
Working Capital = Current Assets — Current Liabilities
1,80,000 = Current Assets — 390,000; Current Assets = <2,70,000
_ %2,70,000 _ 31

Current Ratio
<90,000

. Assuming that the Debt-equity ratio is 2. State giving reasons whether this ratio would increase,

decrease or remain unchanged in the following cases:

(a) Purchase of fixed asset on a credit of 2 months.
(b) Purchase of fixed asset on a long term deferred payment basis.

(c) Issue of new shares for cash.

(d) Issue of bonus shares.

(e)Increase el
| Because equit ‘Will be decrea

Particulars ®)
Long-term Borrowings 2,00,000
Long-term Provisions 1,00,000
Current Liabilities 50,000
Non-current Assets 3,60,000
Current Assets 90,000
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AnS:

Debt

pebt to Equity Ratio = _Dei

Equity
Long-term Borrow;
owin
2,00,000 + 1,00,000 8% + Long-term Provisions
3,00,000

Equity = Current Assets+
S+Non-curr
on-current Assets — Current Liabilities — Long-ter

Debt to Equity Ratio = M =

= L ; Jorrowings
Long-term Provisions e

= 90,000 + 3,60,000
»0U,000 - 50,000 - 2,0 5
— %1,00,000 000 00

100,000 el

7 late C o ,
Q. /- Calcu urrent Ratio of a company from the following information:
Inventory Turnover Ratio: 4 times

Inventory in the end was 220,000 more than inventory in the beginning:
Revenue from operations ¥3,00,000

Gross Profit Ratio 25%

Current Liabilities ¥40,000

Quick Ratio 0.75 : 1 [CBSE (AI) 2011]

Ans. Inventory Turnover Ratio _ Cost of Revenue from Operations

4 (Given)

Average Inventory =

Average Inventory

(Revenue from Operations — Gross Profit)

Average Inventory
(Z3,00,000— 25% of ¥3,00,000)

4
Z2,25,000
Average Inventory TR ¥56,250
1
Closing Inventory = 56,250 + 5 of 20,000
— 56,250 + 310,000 = 266,250
Current Assets = Liquid Assets + Closing Inventory
With the help of Quick Ratio, we can find out Liquid Assets:
Liquid Assets
5 = /
Quick Rauo Current Liabilities

Liquid Assets
e Seias e S

0.75 (Given) = 240,000

or Liquid Assets
Current Assets

_ 740,000 % 0.75 = ¥30,000
— Liquid Assets + Inventory
_ 730,000 + 66,250 = 396,250

Current Assets 96,250
= Gurrent Liabilities 40,000

=241:1

. 1 and a quick ratio of 1. 2 : 1. If the :
agd value of Inventory. working capital is

[CBSE Delhi 2010)
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. Current Ratio = 3:1
Working Capital = Current Assets — Current Liabilities
Let Current Liabilities be x
Current Assets = 3x
Working Capital = CA - CL

= Jx—nx = 2v
9x = 1,80,000
x = 90,000

Current Liabilities = ¥90,000
Current Assets = 3x
=3 x 90,000
= 32,70,000.
Liquid Assets
Current Liabilities
12  Liquid Assets

Quick Ratio =

I 90000
Liquid Assets = 90,000 x 1.2
=1,08,000

Inventory = Current Assets — Liquid Assets
= 270,000 — 1,08,000 = ¥1,62,000.
Q. 9. From the following information, compute ‘Proprietary Ratio’:

Particulars ?)
Long-term Borrowings 2,00,000

Long-term Provisions 1,00,000
Current Liabilities 50,000
Non-current Assets 3,60,000

90,000

Current Assets
. ; Shareholders’ Funds [CBSE (A1) 2014)
Ans. Proprietary Ratio =

Total Assets

Shareholders’ Funds

— Current Assets + Non-current Assets — Long-term borr
owings — Long-
— Current Liabilities 8 ong-term provmons

= 90,000 + 3,60,000 —2,00,000 - 1,00,000 - 50,000 = 1,00,000
Total Assets = Current Assets + Non-current Assets
= 90,000 + 3,60,000 =X 4,50,000

. ; %1,00,000
Proprietary Ratio = m =10022 818 o1:22%:. AL it
Q. 10. From the following information, compute “Total Assets to Debt Ratio’:
Particulars ) i
Long-term Borrowings 3,00,000
Long-term Provisions 1,50,000
75,000

Current Liabilities
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Ans-

Q. 11.

Ans.

Non-current Assets
Current Assets iy
1,35,000

Total Assets to Debt ratig [CBSE (F) 2014]

Total Asses
Long-
A -term Dely
I'otal Assets = Non-current Asset ¢
S

e
= SAU DR S e

Long-term Debts = :
g Long-term Borrowin

C rS + L ol . P :
= 3,00,000 + 1,50,000 8 ong-term Provisions

= %4,50,000
Total Assets to Debt ratiop = M A
450000

From the following information
]
(a) Debt to Equity Ratio

(b) Working Capital Turnover Ratio and

(c) Return on Investment

calculate any two of the following ratios:

Information:

Equity Share Capital ¥50,000; General Reserve 35,000; Statement of Profit and Loss after tax
and interest ¥15,000; 9% Debentures ¥20,000; Trade payables (Creditors) Z15,000; Land and

Building ¥65,000, Equipments ¥15,000; Trade Receivables (Debtors) 214,500 and Cash
¥5,500.

Sales (Revenue from Operations) for the year ended 31-03-2017 was 21,50,000, Tax rate 50%.

[CBSE Delhi 2012]
Debt _ 320,000

(a) Debt to Equity Ratio = m m=0.29:1 "
Equity = Equity Share Capital + General Reserve + Statement of Profit and Loss
— 250,000 + 5,000 + %15,000
= ¥70,000

(b) Working Capital Turnover Ratio
Net Revenue from Operations

7 Working Capital
_1,50,000_ 30 imes
/ 55’?21(:\Mlcurrem Assets — Current Liabilities
W in ,ap tal = Y ' »
worknfl BRI - 10 - 2000
s verest
Working Ca‘Pl‘ LE Profit before Interest and Tax 00
(¢) Return on Inves

Profit b 2
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. cprofit and Loss
Share Capital + General Reserve -+ Hlilll"”"'” of Pro
+ 9% Debentures
750,000 + 5,000 + ¥ 15.000 +

Capital limploycd =
z;_»(),n()()

td., Calculate interest

Il

= £90,000. fJeev ]
Q. 12. From the following details obtained from the financial stal.cmcnlh of

coverage ratio:
Net Profit after tax Z1,20,000

12% Long-term Debt 220,00,000

[CBSE Delhi2016]

Tax Rate 40%. o
Net Profit before I'EEE‘E‘J[[‘,‘.L!:?:\
erest Charges

Ans. [pterest Coverage Ratio = ———
Fixed Int

Net Profit after tax = Z1.20,000
Z
—9.00,000

Tax rate = 40%

Net Profit before tax = 1,20,000 X 100/60

9 40,000

Add: Interest
12% long-term Debt, i.e., 12/100 X ?2(),()(),000 =2,40,V9%
140,000

Profit before Interest and Tax
Interest Coverage Ratio = w
79.40,000
= 1.833 tumes ;
turnover ratio; Revenue from operations
[CBSE (AI) 2016]

ion, calculate inventory
72,20,000; Gross Loss Ratio 5%- _
Cost of Revenue from Operations

- Average Inventory

ations + Gross Loss

From the following informat
Z16,00,000; Average Inventory

Ans. Inventory Turnover Ratio
— Revenue from Oper

Cost of Revenue from ()pcrzltions
= %16,00,000 + 780,000 = Z 16,380,000

=T 2,20,000
716,80,000 e v

= = 7.64 times
T 2,20,000

Naveen Ltd., calculate

Average Inventory

Inventory Turnover Ratio

From the following information related to

(a) Return on Investment and,

(b) Total Assets to Debt Ratio.

Information:

Fixed Asset
Debentures Z8

Q. 14.
12%

s 275,00,000; Current Assets 40,00,000; Current Liabilities 7217,00,000;
0,00,000 and Net Profit before Interest, Tax and Dividend %14,50,000.
[CBSE Delhi 2015

tment
fi before Interest, Tax and Dividend
X 100

Capital Employed
ax and Dividend = Z14,50,000

Ans. (a) Return on Inves
_ Net Pro

Net Profit before Interest, T
Capital EmPlO)’Cd _ Fixed Assets + Gurrent Assets — Current Liabilities
_ #75,00,000 + ¥40,00,000 - ¥27,00
2 2 / > ,0( = i
214,50,000 0 = ¥88,00,0008 8

nvestment = 75800000 | 104T%

Return on I
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(b) Total Assets to Debt Ratio = Total Assets
Long-term Debt
Total Assets = Fixed Assets + Gurrent Assets = 75,00,000 + 40,00,000 = RIS
Long-term Debt = 12% Debentures = Z80,00,000
Total Assets to Debt Ratio = —*1’15’00’000 = 1.4
30,00,000

()(),()()()

b ol

. . eratiol’ls:
o/15. From the given information, calculate the inventory turnover ratio. Revenue fr oThgg 2d which
' 22,00,000; GP: 25% on cost; Inventory at the beginning is 1/3 of the inventory s £ Delhi 2010]
was 30% of revenue from operations. [CBSE
Ans. (Gross P]'Of‘l[ = 2,00,000)(—%‘?- = ?40,000
125
Cost of Revenue from Operations = 2,00,000 — 40,000= % 1,60,000
(:]()Si]lg Invemory = 2.00,000x _32 = 60,000
100
Opening Inventory = 60’000)(1 — 220,000
3
Average Inventory 120:000.80,000 _ 340,000
2

: Cost of Revenue from Operations
Inventory Turnover Ratio =

Average Inventory

%1,60,000 :
= ———— = 4 times.
340,000
0. 16. From the following information, calculate Operating Profit Ratio:

Opening Stock ¥10,000; Purchases 31,20,000; Revenue from operations ¥4,00,000; Purchase
Returns %5,000; Returns from Revenue from operations ¥15,000; Selling Expenses ¥70,000;
Administrative Expenses ¥40,000; Closing Stock ¥60,000. [CBSE Delhi 2016]

: ; Operating Profit il
OperatinzggeRrRatiors Net Revenue from Operations

Ans.

Net Revenue from Operations = 74,00,000 - 15,000 = % 3,85,000
Cost of Revenue from Operations = Opening Stock + Purchases — Purchase return
— Closing Stock
=% (10,000 +1,20,000 — 5,000 — 60,000)
=¥ 65,000
Gross Profit = Net Revenue from Operations — Cost of Revenue from Operations
— %3.85,000 — 265,000 = ¥3,20,000
Operating 'Expen‘ses;lsdling Expenses + Administrative Expenses
— Z70,000 + 40,000 = %1,10,000
= Gross Profit — Operating Expenses
3,20,000 — T1,10,000 = %2,10,00(

Operating Profit

x100 = 54.559,
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Q. 17. From the following, calculate ‘Trade Receivables Turnover Ratio:
yezlr——'\"8,40,000

Total Revenue from Operations for the
e

Cash Revenue from Operations—40% of Credit Revenu
Closing Trade Receivables—¥2,00,000
Excess of Closing Trade Receivables over Opening

from Opcrauons

jvables — 780,000.

Trade Rece
|(}li."il'.‘ (Al) 20](,((;”

p , Y H S
BUSE i T _ Credit Revenuce {rom (7)“)9!:1!1(»)_1.1 )
S- Trade Receivables Turnover Ratio=————— T
Average [rade Recelvablie:
=5 ?(),()(),()()()= g 75 Times

~ %1,60,000

Working Notes:
1.Calculation of Credit Revenue from ()p('r;ui()ns:
Let Credit Revenue from Operations = &
Cash Revenue from Operations =40% of x=4x/10
v+4x/10 = ¥8,40,000

10x+4x = ¥84,00,000

14x = ¥84,00,000 :
ue from Operations)

x = %6,00,000 (Credit Reven 08 ey 1
" _ Opening Trade Receivables + Closing I'rade Receivables
2.Average Trade Receivables = ————— o

%1,20,000 +%2,00,000 .
= = 1,60,000

= =

Q1% (a) From the following information, compute ‘Total Assets to Debt Ratio’:
Shareholders’ Funds Z1,60,000; Total Debt ¥3,60,000, Current Liabilities ¥40,000.
to Current Liabilities (34,00,000) is 1.5 : 1. The
f2:1 by paying some part
e must pay for this
[CBSE (F) 2013]

(b) The ratio of Current Assets (26,00,000)
accountant of this firm is interested in maintaining a current ratio o
of Current Liabilities. Suggest the amount of Current Liabilities which h

purpose.

Ans. (a) Total Assets — Total Debts + Shareholders’ Funds

= ¥3,60,000 + ¥1,60,000

<5,20,000
Total Debts — Current Liabilities

Long-term Debts =
= Z3,60,000— 340,000

=3 3,20,000
Total Assets

Total Assets to Debt Ratio =
Long-term Debts

35,20,000
=——"— =1.625:1
2320000
Let the amount of Current Liabilities to be paid = x

()
9 %6,00,000-x
I

~ 34,00,000-x
78.00,000— 2x = 6,00,000—x
9y —x = 28,00,000-36,00,000
x = £2,00,000
Current Liabilities of 2,00,000 should be paid off to obtain current ratio of 2:1.
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. 0005 Credit §; :
Current Liabilities #1,05,) 3‘2‘* ¥3,80,000; Sales Returns €10,000; Liquid Assets 140,000

(b) Calculate ‘Debt to Equity Rnﬁo:ld Inven(m'y ¥90,000.

Total Assets T3

Cash Sales T1 30,000

fi e
rom the following information:

»50,000; Total Deby ¥2,50,000 and Current Liabilities ¥80,000. S
Ans. (@) Working Capital Turnover Ratio = Net Sales M1 i
&ih_b_‘l,]t\ +Credit Sales - Sales Return

Current K\\T(\ — Current Liabilit ies
130,000+ 3,80,000~ 10,000
140,000+ 90,000~1,05,000
X5,00,000
<1,25,000
(b) Debt to Equity Ratio Debt
Equity

Il

= 4 times

Long-term Debts
=} s = Total Debts — Current Liabilities

= 250,000 - ¥80,000 = ¥1,70,000

Shareholders’ Funds (Equity) = Total Assets — Total Debts
= ¥3,50,000 - ¥2,50,000 = ¥1,00,000
Debt to Equity Ratio BRI 710,000
< 1,00,000
= L7l
Q.20. Opening Inventory : 260,000; Closing Inventory : ¥1,00,000; Inventory turnover ratio 8 times;
Selling price 25% above cost; Calculate the Gross Profit Ratio. [CBSE Delhi 2009; (Al) 2009]
: Opening Inventory + Closing Inventory 160,000
Ans. Average Inventory = 5 = 5
= ¥80,000
. _ Cost of Revenue from Operations ;
Inyentory Turnover 0o = Average Inventory |

Cost of Revenue from Operations

T80,000 |
Cost of Revenue from Operations = %6,40,000
= 95% of 6,40,000

Gross Profit
= %1,60,000

ons = Cost of Revenue from Operations + Profit
— 76,40,000 + Z1,60,000
— ¥8,00,000
Gross Profit
Gross Profit Ratio = Revenue from Operations

== _1’_6219_99— x 100
8,00,000

= 20%.

Revenue from Operati

x 100

E— S s
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